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Short Response (5 pts each)





6 and 7. 





VE STPD = 102 x (273/(273 + 21)) x ((635 – 18.7)/760)


                = 102 x (273/294) x (616.3/760)


                = 102 x 0.9286 x 0.8109


                = 76.81 L/min





8.


VI STPD = 76.81 x ((0.9906 – 0.1668 – 0.0398)/0.7808)


               = 76.81 x (0.784/0.7808)


               = 76.81 x 1.0041


               = 77.12 L/min





9.


VO2 = (77.12 x 0.2095) – (76.81 x 0.1668)


        = 16.1566 – 12.8119


        = 3.3447 L/min





VCO2 = (76.81 x 0.0398) – (77.12 x 0.0003)


           = 3.057 – 0.0231


           = 3.034 L/min





RER = 3.034 / 3.3447 = 0.91





10.


RER of 0.91 has Kcal/L = 4.936 = 70.8% Cho and 29.2% FAT





To calculate grams of CHO and FAT, you need to first compute total Kcals.





Kcals = VO2 x Kcal/L = 3.3447 x 4.936 = 16.5094 Kcals





CHO Kcals = 16.5094 x 0.708 = 11.6889





FAT Kcals = 15.5094 x 0.292 = 4.4074





CHO grams = 11.6889 / 4 = 2.92


FAT grams = 4.4074 / 9 = 0.49





11.


As the subject has a moderately high VO2 and was still at an RER of 0.91, the subject must be fairly well trained for endurance.  To verify this, the relative expression of VO2 equates to 42.3 mL.kg/min, and if it is assumed that this metabolic intensity approximates 60% VO2max, this would estimate a VO2max of 70.5 mL/kg/min – which is a highly trained value.


























